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MATHS

BOOKS - PSEB (PUNJABI MEDIUM)

feaen »ig fimrfes

1. fgntt @ s &3 nfan &t fegaradt gt uz
J3:-(2, 3),(4, 1)

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ZLdGZeNxifHj

2, el € Ja &3 Afan €t fegdrast gat uz
dd:- (-5,7),(-1, 3)

o Watch Video Solution

3. gl @ Ja 3 Afan €t fegarast gt uz
dd:-(a,b), (-a,b)

o Watch Video Solution



https://dl.doubtnut.com/l/_ZLdGZeNxifHj
https://dl.doubtnut.com/l/_FcdUZMjvlv5Y
https://dl.doubtnut.com/l/_2ZPujDIaAfDq

4. fogutds a9 fq &t fHg (1,5),2,3) 3 (-2,-11)

AHIHT I&|

o Watch Video Solution

5. 79 dd fa ot fdg (5,-2),(6,4) "3 (7,2) fex
AHEgH! 337 € fiyg as|

o Watch Video Solution



https://dl.doubtnut.com/l/_uvhYYYBf2Bgj
https://dl.doubtnut.com/l/_T8YGkbjDPhwW

6. faH AN feg 4 fH3g fAgn AB,C M3 D '3 88
Je I, T 397 fd 939 7.8 feg =anrfem famr
J1 TU M3 U A3 2 nied MBI s M3
I3 AHT 24E 3 gmfe 9UT, 9idt § ¥gdt I, dt 3
&df Aadt {9 ABCD s 2ga1 97 9Hdl fer &3
AfgH3 &dt J1gdt B39 € yudI ddd, €R fa feaat


https://dl.doubtnut.com/l/_XOzgkJuy29bb
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o Watch Video Solution

7. 35" {3 el gn'd" 96 ') 9393 ©f farH
(Aad 3t d 37)TR M3 My §39 T J'dS & TH:-


https://dl.doubtnut.com/l/_XOzgkJuy29bb
https://dl.doubtnut.com/l/_AdRI7WNWfTzY

(-1,-2), (1,0),(-1,2),(-3,0)

° Watch Video Solution

8. d&' fd3 fdgn’ gng g5 €8 93dgd T
famy (Aag det 9 37)TR M3 My €33 T adc

gl TR:-(-3,5),(3,1), (0, 3),(-1,4)

° Watch Video Solution

9. d&' fd3 fdgn gng g5 €8 Y3dgA T
famy (Aag det 9 37)TR M3 My €33 T adc


https://dl.doubtnut.com/l/_AdRI7WNWfTzY
https://dl.doubtnut.com/l/_QnY3JFnAJ2b9
https://dl.doubtnut.com/l/_AiOF6wptzPnN

gl T1:-(4,5),(7,6),(4,3),(1,2)

o Watch Video Solution

10. x-d '3 BJ &g U3 dJ # (2,5) "3 (-2,9) 3
gdred €t gdt '3 I

° Watch Video Solution

1.y € 89 U U3 34 fAne set fiE P2, 3) »i3
Q( 10, y) € fegarg €t gat 10 fadrdi J

o Watch Video Solution



https://dl.doubtnut.com/l/_AiOF6wptzPnN
https://dl.doubtnut.com/l/_s3EOeWh1fRlp
https://dl.doubtnut.com/l/_s5afp1z3fCn2

12. 73 Q(0, 1) fdgnf P(5, -3) M3 R(x, 6) 3 Td™ad
df gdl '3 J 37 x € U Y37 3| g QR M3 PR
g Y3t I3

o Watch Video Solution

13. x m3 y &g & nifgT HEg u3™ 34 fa e (xy)
fagnii(3,6) M3 (-3,4) 3 9dgg < gdt '3 J=

° Watch Video Solution



https://dl.doubtnut.com/l/_s5afp1z3fCn2
https://dl.doubtnut.com/l/_wZRd76x87EHk
https://dl.doubtnut.com/l/_Gm9pVdAcVeai
https://dl.doubtnut.com/l/_HQT5DxENqVTe

14. 7 fHig 2 fogen »id 3T a9 7 gt (1,7)
M3 (4,3) & HSEES T8 Jumd3 & 2:3 € nigu3
feg €37 JI

° Watch Video Solution

15. ffenit (4,1) 713 (-2,3) & B 8 Junds &
35 AN a1 ads 28 fent @ foged nig u3r
J

° Watch Video Solution



https://dl.doubtnut.com/l/_HQT5DxENqVTe
https://dl.doubtnut.com/l/_Za58nkFjudxB
https://dl.doubtnut.com/l/_bnfbqdsSEocW

16. fgnt (-3,10) M3 (6,8) & HBET =& U3
& fog (1,6){dH mgur3 €9 €3w7 J7

o Watch Video Solution

17. fdgnt AQ1,-5) 3 B(-4,5) § HBE 278 U3
& x-gd' faH migus3 feg E3e JIftn €3 =% fie
< foged nid € U3 33|

o Watch Video Solution



https://dl.doubtnut.com/l/_bnfbqdsSEocW
https://dl.doubtnut.com/l/_iB7ZwJvQE6mD

18. Had &€ (1, 2), (4, y), (x, 6) "3 (3,5) feR qH

g 8< 3 ¥ AY33 93931 © g d= 37 x M3

yLB"Bl%I

o Watch Video Solution

19. g A © foden Wid u3T a9, fie AB fEx Jad
@ fenfH 3 fameT dea (2,-3) I M3 B © foaew via

(1,4)T5|

o Watch Video Solution



https://dl.doubtnut.com/l/_RHNxlcDaJJu7
https://dl.doubtnut.com/l/_KbqZxu3o39tF
https://dl.doubtnut.com/l/_NeFs5xOnpDwa

20. H3d A W3 B FHET (-2,2) M3 (2,-4) I 3T g
P 2 foded »id 3T dd 37 fd AP=3/7 AB de W3 P
U3 AB '3 AfE3 J2|

o Watch Video Solution

21. fgnt A(-2, 2) M3 B(2,8) & HBEE 28 U3
AB & §'d gdgd IdT &9 €3 e8) fdgn €

feged nid 3T J3J|

o Watch Video Solution



https://dl.doubtnut.com/l/_NeFs5xOnpDwa
https://dl.doubtnut.com/l/_316A38XRlICF
https://dl.doubtnut.com/l/_Hm5lsUOkqYTw

22. {8 A 93330 T 43des U3T a4 fAe fHug

fer v feg (3,0),(4,5),(-1,4) M3 (-2,1) TSI (HA3:
AHY 93930 T 43de®= 1/2 (BART feags &

° Watch Video Solution

23. BH 337 € 439es U3 d4d fane fhiug ga:-

(2,3),(-1,0),(2, -4)

o Watch Video Solution



https://dl.doubtnut.com/l/_Hm5lsUOkqYTw
https://dl.doubtnut.com/l/_MvB61CkjQeeM

24. GH 337 € 439es u3™ d4 fane fHug g&:-

(-5, -1),(3,-5),(5, 2)

° Watch Video Solution

25. &1 fa3nit feg 'k & W8 Y3793 31 {q 36 e
AHIYT 3<: (7, -2), (5,1),(3 k)

o Watch Video Solution



https://dl.doubtnut.com/l/_GgutUsPdNchL
https://dl.doubtnut.com/l/_yQCIBNKMtnHy

26. J&" fe3tnt feg 'k & U8 U371 dd 31 (g 136 e

AHIYT 3<: (8, 1), (k-4), (2, -5)

o Watch Video Solution

27. fAY3 (0,1),(2,1) M3 (0,3) T8 {337 it FATE
€ HY fHenf 3 g6 8 337 € 439es U3 |
fer d39es v fd3 J¢ f39A € 4398 &8 Mau3
Y3t IJ|

o Watch Video Solution



https://dl.doubtnut.com/l/_9cAPkStqDrEQ
https://dl.doubtnut.com/l/_ApZFrYSLEgAl
https://dl.doubtnut.com/l/_UF4CXdgxkBYY

28.xm§yf%'€a18fé'aﬁr‘é|‘tru31aé‘ﬁaafé’g(x,y)

(1,2) M3 (7,0) AHIHT TS|

o Watch Video Solution

1.x”@yﬁ€@aﬁﬁﬁwaﬁﬁﬁg(x,y)m

.
=1
-

(7,)) 73 (3,5) 3 g979d gt '3 I

° Watch Video Solution



https://dl.doubtnut.com/l/_UF4CXdgxkBYY
https://dl.doubtnut.com/l/_tARjvWpvUIcl
https://dl.doubtnut.com/l/_jYqQ2hBB6Y8f

2. ygd '3 g nifrgr fig u3T a3 7 fent A6,5)
™3 B(-4,3) 3 9994 gdl '3 J=|

o Watch Video Solution

3. 67 ffg @ fsaw wia us a9 7 Riemit (4,3) mi3
(85) & TEe =B Junds & niegd 39 3 34 2

U3 fgg €3e J

o Watch Video Solution



https://dl.doubtnut.com/l/_jYqQ2hBB6Y8f
https://dl.doubtnut.com/l/_jpJwb9QlMhyh

4. T8¢ (-4,6) fegnT’ A(-6,10) "3 B(3,8) & H®G=
T 94T ¥3 & faH nigy3 feg €3e7 J1

° Watch Video Solution

5. fdent’ A(2,2) M3 B(7,4) & HBBE &8 U3

{35 AH'S 3791 dgs ) fagn 2 foder nig U3

(9} b}

aJl

° Watch Video Solution



https://dl.doubtnut.com/l/_AS7gb0gI0C8B
https://dl.doubtnut.com/l/_ljRVOjfW3A7m

6. ffent (5,6) 713 (-1,4) § fHer8 eB iz &
y-gd' fom nigus fég €3« Jdifen ae fig @
feges wid & y3T 3|

o Watch Video Solution

7. Adg f8€ A(6,1), B(8,2), C(9,4) "3 D(p ,3) fex

AH3g g3dgA e g feR digufeg de 3ip &

HS U3T 4

o Watch Video Solution



https://dl.doubtnut.com/l/_l62pbFfCOFWf
https://dl.doubtnut.com/l/_3aF3QxSu8Dbo
https://dl.doubtnut.com/l/_BxZPRaiWOCGk

8. B f3gd & 439es y3™ a4d fAne fhiyg (1,1),

(-4,6) M3 (-3,-5) TS|

° Watch Video Solution

9. ffenfi A(5,2),B (4,7) M3 ((7,4) TS 936 T8

AABC € 43des U3T 3|

o Watch Video Solution



https://dl.doubtnut.com/l/_BxZPRaiWOCGk
https://dl.doubtnut.com/l/_dRauEUnaU6QQ

10. fdgnt’ P(-1.5,3),Q (6,2) ™3 R(-3,4) &'& &

o8 {337 €T 433enB U3 Jd |

° Watch Video Solution

11. k € HS 43T I3, Aad g A(2,3),B (4k ) »3
C(6,-3) AHIHT d<|

o Watch Video Solution



https://dl.doubtnut.com/l/_3uBmJyOjWmkm
https://dl.doubtnut.com/l/_BSKUlRhELl4j

12. 799 A(-5,7), B(-4,-5 ),C(-1,-6) M3 D(4,5) f&d

933931 © fAyg g& 37 f&H 933930 ABCD ©

g43des U3 I3

o Watch Video Solution



https://dl.doubtnut.com/l/_PQDLklOkJ9MS

